RESOLUTION NO. 2020 -2726

A RESOLUTION OF THE TOWN COMMISSION OF THE TOWN OF SURFSIDE, FLORIDA, APPROVING THE PURCHASE, INSTALLATION AND MAINTENANCE OF PERMANENT LIGHTING FOR THE **DOWNTOWN** DISTRICT AND AUTHORIZING AN AGREEMENT WITH **R&D ELECTRIC INC. FOR SUCH LIGHTING; FURTHER AUTHORIZING** THE **INSTALLATION** MAINTENANCE OF SUPPLEMENTAL LIGHTING FOR **MONUMENT** SIGNS AND **AUTHORIZING** AGREEMENT WITH MIAMI CHRISTMAS LIGHTS FOR SUCH SUPPLEMENTAL LIGHTING; FINDING THAT THE PURCHASES/WORK ARE **EXEMPT** COMPETITIVE BIDDING PURSUANT TO SECTION 3-13(7)F OF THE TOWN CODE AS A PUBLIC WORKS OR UTILITIES PURCHASE FOR TOWN **FACILITIES: AUTHORIZING THE TOWN MANAGER TO ENTER INTO** SUCH **AGREEMENTS** FOR **PURCHASES/WORK:** PROVIDING FOR IMPLEMENTATION; AND PROVIDING FOR AN EFFECTIVE DATE.

WHEREAS, the Town of Surfside ("Town") wishes to purchase and install annual holiday lighting in the Downtown District and install additional lighting for palm fronds, monument signs and pocket parks throughout the Town; and

WHEREAS, pursuant to Section 3-13(7)(f) of the Town's Code, public works or utilities purchases or work for Town facilities are exempt from competitive bidding; and

WHEREAS, the Town obtained the Quotation attached hereto as Exhibit "A" from R&D Electric Inc. ("R&D Electric") for the purchase, installation and maintenance of permanent lighting in the Downtown District at a total cost of \$129,662.82, with R&D Electric providing similar lighting services to the City of Miami Beach pursuant to a pilot program; and

WHEREAS, The Town obtained the Quotation attached hereto as Exhibit "B" from Miami Christmas Lights ("MCL") for the installation and maintenance of supplemental or additional lighting for monument signs at a cost of \$15,000 with MCL, being the Town's existing

vendor for holiday lighting; and

WHEREAS, the Town Commission wishes to approve the purchase, installation and maintenance of permanent lighting in the Downtown District from R&D Electric, in accordance with the Quotation attached hereto as Exhibit "A", and authorize the Town Manager to enter into an agreement with R&D Electric for such work; and

WHEREAS, the Town Commission further wishes to approve the installation and maintenance of supplemental lighting from MCL, in accordance with the Quotation attached hereto as Exhibit "B", and authorize the Town Manager to enter into an agreement with MCL for such work; and

WHEREAS, the Town Commission finds that this Resolution is in the best interests and welfare of the Town.

NOW, THEREFORE, BE IT RESOLVED BY THE TOWN COMMISSION OF THE TOWN OF SURFSIDE, FLORIDA, AS FOLLOWS:

Section 1. Recitals Adopted. Each of the above stated recitals are hereby adopted, confirmed, and incorporated herein.

Section 1. Approving Purchase, Installation and Maintenance of Permanent Lighting for the Downtown District and Authorizing an Agreement with R&D Electric Inc. for Such Work; Exemption from Competitive Bidding. The purchase, installation and maintenance of permanent lighting for the Downtown District in accordance with the Quotation attached hereto as Exhibit "A" from R&D Electric is hereby approved. The Town Commission finds that pursuant to Section 3-13(7)(f) of the Town's Code, the purchase or work is exempt from competitive bidding. The Town Manager is authorized to execute an agreement with R&D Electric for the work.

Section 2. Approving Installation and Maintenance of Supplemental Lighting and Authorizing an Agreement with Miami Christmas Lights for Such Work; Exemption from Competitive Bidding. The installation and maintenance of supplemental lighting for monument signs at a cost of \$15,000 in accordance with the Quotation attached hereto as Exhibit "B" from

MCL is hereby approved. The Town Commission finds that pursuant to Section 3-13(7)(f) of the Town's Code, the acquisition of the work is exempt from competitive bidding. The Town Manager is authorized to execute an agreement with MCL for the work.

Section 3. Implementation. The Town Manager and Town Officials are authorized to take any and all necessary action to implement the purchase and/or installation of the lighting and the work and the purposes of this Resolution.

<u>Section 4.</u> <u>Effective Date.</u> This Resolution shall be effective immediately upon adoption.

PASSED AND ADOPTED this 13rd day of October, 2020.

Motion	By:	Commissioner Velasquez	_
Second	Bv:	Commissioner Kesl	

FINAL VOTE ON ADOPTION:

Commissioner Charles Kesl Yes
Commissioner Eliana R. Salzhauer
Commissioner Nelly Velasquez
Vice Mayor Tina Paul
Mayor Charles W. Burkett
Yes
Yes

Charles W. Burkett, Mayor

ATTEST:

Sandra McGready, MMC Town Clerk

APPROVED AS TO FORM AND LEGALITY FOR THE USE AND BENEFIT OF THE TOWN OF SURFSIDE ONLY:

Weiss Serota Helfman Cole & Bierman, P.L.

Town Attorney

Exhibit "A"

(Quotation from R&D Electric Inc.)

Exhibit A



7447 NW 48 Street Miami, Florida 331

PR

Palm Lighting wrapping

Phone: (305) 403-7. Fax: (305) 403-7. www.RDElectricInc EC13001534 9/9/2020

item	Description	Unit	Qty	Unit Price		Total
Initial Ins	tallation					
	Wrap around palm trees using "LED Expandable Year Round LED lights".	LABOR (HR)	657	\$ 45.00	\$	29,565.00
		Police (HR)	48	\$ 60.00	\$	2,880.00
		MATL (LS)	1100	\$ 41.00	\$	45,100.00
		1	TAX on material only (7%)			
		MARKUP on material only (10%)			\$	4,510.00
				subtotal:	\$	85,212.00
Power Re	equirement					
2	Provide GFCI Breaker Box & Standard Receptacle	LABOR (HR)	145	\$ 45.00	\$	6,525.00
		Police (HR)	72	\$ 60.00	\$	4,320.00
		MATL (LS)	18	\$ 147.00	\$	2,646.00
		TAX on material only (7%)			\$	185.22
		MARKUP on material only (10%)			\$	264.60
subtotal:					\$	13,940.82
Monthly F	Patrol and Maintenance					
2	Maintenance. Provide monthly maintenance to GFIs	LABOR (HR)	10	\$ 45.00	\$	450.00
		MATL (LS)	1	\$ 50.00	\$	50.00
		TAX on material only (7%)			\$	3.50
		MARKUP on material only (10%)			\$	5.00
Monthly Cost:					\$	508.50
			Yearly	maintenance :	\$	6,102.00
			5 year fu	ull maintenance :	\$	30,510.00

TOTAL: \$ 129,662.82

Warranty.

3 year warranty on the lights. 1 Year Manufacturer Warranty on lights plus 2 year contractor warranty .

NOTE:

LS-LUMP SUM EA-EACH

Replacement of lights at each palm tree after warrany has expired will be at a cost of \$1,230.00.

Rafael Echarri

Exhibit "B"

(Quotation from Miami Christmas Lights)





Miami Christmas Lights 1167A NW 159th Dr Miami Gardens 33169

Customer Information

Town of Surfside Frank Trigueros 9293 Harding Ave Surfside, FL 33154 Ph: 305-722-7578

Em: ftrigueros@townofsurfsidefl.gov

Estimate

305.908.8000 info@miamichristmaslights.com miamichristmaslights.com

Proposal Information

Estimate#: 20 -280 Proposal Date: Sep 14, 2020 Decision Date: Mar 4, 2020 Desired Install Date: Sep 1, 2020 Desired Removal Date: Mar 31, 2021 Contract Expire Date: 2021

Product Details	Price	Units	Total
7 Fronds per 77 Palms	\$ 27,855.00	1	\$ 27,855.00
Install elegant 3' tall by 4' wide art decor inspired LED illuminated ribbon monument enhancer	\$ 3,750.00	4	\$ 15,000.00
Install elegant, 7" LED illuminated acrylic landscape enhancing spheres	\$ 150.00	64	\$ 9,600.00
Decorate 8 pocket parks with elegantly illuminated acrylic spheres complimented with twinkle lights through the ground foliage of the park.			

Sub Total \$ 52,455.00

Discount Terms \$ 0.00

Adjustments \$ 0.00

Grand Total \$ 52,455.00

Pay Deposit Now Online \$ 26,227.50

Prices include all materials, which are supplied by Miami Christmas Lights and remain the property of Miami Christmas Lights, installation, maintenance, and removal. Customer is only responsible to supply adequate power sources. If Customer is providing any materials, that will be noted in the Notes section.

Notes: 50% deposit due on execution of the contract with Town of Surfside. Balance of payment is due after light up date when the installation is complete.

Power:Outlets at the base of each tree.

Pocket parks have outlets, but need to run power to the individual products.

Outlet Location:

Circuit Breaker Location:

Timer Hours: N/A

Miami Christmas Lights carries \$3,000,000/\$4,000,000 commercial liability and \$1,000,000 workers compensation insurance. For copies of either policy, please ask your sales representative.

By my signature below, I certify that I have read and agree to the provisions set forth in this invoice and to the Miami Christmas Lights Standard Terms and Conditions posted at www.miamichristmaslights.com/termsandconditions.pdf which are incorporated by reference herein. A deposit of 50% of the total estimate is required to reserve the installation time slot. Miami Christmas Lights will not begin any work until deposit is received

Name:	Signature:	Date:
Name:	Signature:	Date: